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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half  marks each. 

Learners are required to answer two (02) questions 

only. 



 [ 2 ] CH–06 

B-25 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the mechanisms of the following reactions : 9  

(i) Aldol condensation 

(ii) Perkin reaction 

(iii) Reimer-Tiemann reaction 

fuEufyf[kr vfHkfØ;kvksa dh fØ;kfof/k;ksa dh foospuk dhft, % 

(i) ,YMksy la?kuu 

(ii) ifdZu vfHkfØ;k 

(iii) jhej&VheSu vfHkfØ;k 

2. (a) What happens when : 6 

(i) Glycerol is heated with hydrogen iodide 

(ii) Ethanol is heated with sulphuric acid at 

110°C 

(iii) Acetaldehyde is oxidised by 

2 2 7 2 4K Cr O /H SO   

D;k gksrk gS tc % 

(i) fXyljkWy dks gkbMªkstu vk;ksMkbM ds lkFk xje 

fd;k tkrk gS 

(ii) ,FksukWy dks lY¶;wfjd vEy ds lkFk 110 C ij 

xje fd;k tkrk gS 

(iii) ,lhVsfYMgkbM 2 2 7 2 4K Cr O /H SO  ds }kjk 

vkWDlhd`r gksrk gS 
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(b) Discuss the mechanism of nucleophilic addition 

reaction of carbonyl group.  3  

dkcksZukby lewg dh U;wfDy;ksfQfyd ;ksxkRed 

vfHkfØ;k dh fØ;kfof/k dh foospuk dhft;sA 

3. (a) Explain Hinsberg‟s method of separation of 1°, 2° 

and 3° amines. 5 

izkFkfed] f}rh;d ,oa r`rh;d (1°, 2° o 3°) ,ehu ds 

i`FkDdj.k djus dh fgUlcxZ fof/k dh foospuk dhft,A 

(b) Explain the following :   4  

(i) Phenol is more acidic than ethanol 

(ii) Formic acid is more acidic than acetic acid 

(iii) Nitro group is a ring deactivating group 

fuEufyf[kr dks le>kb;s % 

(i) QhukWy] ,FksukWy ls vf/kd vEyh; gS 

(ii) QkWfeZd vEy] ,lhfVd vEy ls vf/kd vEyh; gS 

(iii) ukbVªks lewg ,d pØh; Ük`a[kyk dks fuf‛Ø; dj 

ldrk gSA 

4. (a) What do you understand by stretching and 

bending vibrations ? 5 

^[khap* ,oa ^>qdus* daiu ls vki D;k le>rs gSa \ 

(b) Write short notes on the following : 4  

(i) Chromophore 

(ii) Auxochrome 

(iii) Hooke‟s law 
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fuEufyf[kr ij laf{kIr fVIif.k;k¡ dhft, % 

(i) ØkseksQksj 

(ii) vkWDlksØkse 

(iii) gqd dk fu;e 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss various types of transition in UV spectroscopy. 

vYVªkokW;ysV LisDVªksLdksih esa fofHkUu izdkj ds laØe.k dh 

foospuk dhft;sA 

2. What are epoxides ? Discuss the mechanism of 

epoxide formation. 

bikWDlkbM D;k gksrs gSa \ bWikDlkbM cukus dh fØ;kfof/k dh 

foospuk dhft,A 

3. Explain the principle of IR spectroscopy. 

vojDr LisDVªksLdksih ds fu;e dks le>kb;sA 

4. What is Ortho effect ? How does it influence the 

basicity and aromatic amines ? 

vkFkksZ izHkko D;k gS \ ;g fdl izdkj ,jksesfVd ,ehu dh 

{kkjh;rk dks izHkkfor djrk gS \ 
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5. What is Tollen‟s reagent ? How does it help in 

identifying an aldehyde ? 

VkWyu vfHkdeZd D;k gS \ ,fYMgkbM dh igpku djus esa 

;g fdl izdkj lgk;d gS \ 

6. Why ammonia is stronger base than aniline ? Explain. 

veksfu;k] ,fuyhu ls T;knk {kkjh; gS D;ksa \ le>kb;sA 

7. Identify X, Y and Z in the following sequence of 

reactions : 

(i)   2 5 2C H INa Cl
2 5

heat
C H OH X Y

h
 Z 

(ii)  2 4 2 4Dil.H SO Conc.H SO
2 5 2 5

Pressure 443K
C H OC H X   

Y
HBr

Z  

fuEufyf[kr vfHkfØ;kvksa esa X, Y vkSj Z dks igpkfu;s % 

(i)   2 5 2C H INa Cl
2 5

heat
C H OH X Y

h
 Z 

(ii)  2 4 2 4Dil.H SO Conc.H SO
2 5 2 5

Pressure 443K
C H OC H X   

Y
HBr

Z 

8. Write a short note on keto-enol tautomerism. 

dhVks&bukWy pyko;ork ij laf{kIr fVIi.kh fyf[k;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

1. IR radiations have a range of ..............nm. 

vojDr fdj.kksa dk ijkl 
--------------------

 nm gksrk gSA 

2. ........... is known as Fehling solution „A‟. 
---------------

 dks Qsgfyax foy;u A ds uke ls tkuk tkrk gSA 

3. ...........method is used to separate the mixture of 

amines. 
----------------------

 izfØ;k dk mi;ksx ,ehu ds i`FkDdj.k esa fd;k 

tkrk gSA 

4. ........... does not absorb UV radiations. 
-------------------

 vYVªkokW;ysV fdj.kksa dks vo’kksf‛kr ugha djrkA 

5. .......... Reagent is used for distinction of primary, 

secondry and tertiary alcohols. 
----------------------

 vfHkdeZd dk iz;ksx izkFkfed] f}rh;d ,oa r`rh;d 

vYdksgkWy esa foHksn djus esa fd;k tkrk gSA 

Choose the correct answer : 

lgh mŸkj pqfu, % 

6. The C C, C C, C O, C N  shows this type of 

transitions : 

(a) *   (b) *   

(c) *n   (d) *n   
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C C, C C, C O, C N bl izdkj dk laØe.k 

fn[kkrs gSa % 

¼v½ *
 ¼c½ * 

¼l½ *n  ¼n½ *n  

7. Hypsochromic shift is also called. 

(a) Red shift (b) Blue shift 

(c) Green shift (d) Yellow shift 

fgIlksØksfed f’k¶V dks dgk tkrk gS % 

¼v½ yky fopyu 

¼c½ uhyk fopyu 

¼l½ gjk fopyu 

¼n½ ihyk fopyu 

8. Aldehyde group shows IR-absorption frequency in the 

range of : 

(a) 3300 cm
–1 

(b) 2650-2880 cm
–1

 

(c) 3010-3100 cm
–1 

(d) 2850-2990 cm
–1 

,fYMgkbM lewg dh vojDr vo’kks‛k.k vkòfŸk dh lhek gS % 

¼v½ 3300 cm
–1
 

¼c½ 2650-2880 cm
–1
 

¼l½ 3010-3100 cm
–1
 

¼n½ 2850-2990 cm
–1
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9. The no. of -electrons in naphthalene is : 

(a) 10 (b) 5 

(c) 3 (d) 6 

us¶Fksyhu esa &bysDVªkWu dh la[;k gS % 

¼v½ 10 ¼c½ 5 

¼l½ 3 ¼n½ 6 

10. How many tertiary carbons are in the given structure ? 

3 3

3

3 3 3 3

CH H CH H

| | | |

C C C CH CH

| | | |

CH CH CH CH

 

(a) 4 (b) 3 

(c) 2 (d) 1 

fuEu esa r`rh;d dkcZu gSa % 

3 3

3

3 3 3 3

CH H CH H

| | | |

C C C CH CH

| | | |

CH CH CH CH

 

¼v½ 4 ¼c½ 3 

¼l½ 2 ¼n½ 1 
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